16 15 14 13 12 11 10 9 | 8 7 6 5 | 4 | 3 | 2 | 1

THIS DRAWING AND THE INFORMATION CONTAINED WITHIN IT ARE CONFIDENTIAL AND MAY ! REVISIONS
NOT BE COPIED OR DISCLOSED WITHOUT THE WRITTEN PERMISSION OF LITTELFUSE.

REV. |IDESCRIPTION DATE DESIGNED | APPROVED
A [First issue of outline drawing 22-Jan-21| L.Dal Molin M.Tinto
B |Note added 26-Mar-21| L.Dal Molin M.Tinto
)
] ()
™)
©) @\ ——
|
[
e : %%
2 M30x1.5 - _ 2 .
B 0 —\
o4 . : .
_ ! . o 8
T e O = ==
.
37 — I -
| c : ] r St
I_'_LI__LI_'_I I_'_LI_ IT 1 \ \_E'_LJ_'__LLf
C ] \:F[ C T
i | . ©
- |
o v , ! 1
I | 1 [_wm1o
1 M10 B
14 Nut M10 Brass 2 EA
/ | ! @ *) 13 Spring washer B10 Bronze 2 EA
_ /‘ 12 Plane washer 10.3x18x2 Brass 2 EA
[ ' == 11 Double cont. protection -Wire Thermoplastic 1 EA
( Eﬂ ] 50mmq material
>WHd< J;g 10 Cont. protection -Wire 50mmq Th?;g"t%ﬂ;s“c 1 EA
(*) _ ) = 9 Nut M10 for housitng protection Brass 2 EA
~ — | 8 Nut M5 Steel 2 EA
] . E 7 Spring washer To 5 Steel 2 EA
—] 6 Plane washer Tc 5.3x9.5 Steel 2 EA
( J — . 5 Complete IGC 1 EA
' (*) 4 Elastic ring Steel 1 | EA
‘ . 3 Nut M30x1.5 Brass 1 EA
—— () 2 Spiral spring pin Steel 1 EA
=== @ *) 1 Handle Aluminium 1 EA
‘ ‘ POS. p/N DESCRIPTION MAERIAL Q.TY | UM
PRESCRIPTIONS
- (&) Supplier name or p/N must be marked on the switch, the device code
‘L’l and date of manufacture according to IVECO Std.
- OPEN CONTACTS - The contact must be closed by turning the handle clockwise 90°
— ! H— ] POSITION ] - ($) Breakthrough type protection panel
I . STATE OF SUPPLY - (*) Handle, spiral spring pin, nut M30x1.5, elastic ring, protections,
j ! nuts and washers supplied in the kit
/ lelNG HOLES ELECTRICAL DlAG RAM CHARACTERISTICS DIMENSIONS AND TOLERANCES IN.MILLIMETE.RS, DEFII.\IEDACCORDINGTO 1SO 1101-2017.
° / - - Max operating voltage: 24DC linear dimensions
3l g _@7 -+ o - Max continuos current: 250A & 350A Y 1% 3 | 1% | 00 | 1000 | 2000
N = ' T - Intermittent current: 2500A at 3 sec. 02 | *03 | 05 | 08 | #12 | * *
= T B - Handle operating torque: 1.5(x0.5) Nm - angle {for range of lengths) -
‘X — - M10 nut closing pair: 19(x3) Nm 10 50 120 400
? + :: - M5 nUt CIOSing pair: 15(105) Nm .i1 j:/FUNCTION CRITICAiL1CHARACTERISTICSSizB‘?;OL =
V | ! ! - LOCkIng nUt M3OX1 '5: 35(15) Nm <S> SAFETY/ COMPLIANCE CRITICAL CHARACTERISTICS SYMBOL
Y H_ L - - - - - Maximum thickness lockable with nut M30: 12mm CPK | DENOTES CPK DIMENSIONS MINIMUM CPK VALUE
- Handle operating torque: 2+0.5 Nm PERFORMANCE PROCEDURE FOR MEASUREMENTAND TRACKINGTO B DEFINED
cP E@%ﬁ%ﬁ%‘:ﬂ%Eg%%b}ggg%ﬁgSEXﬁbf.E&”XﬁS INITIALLY LOGATED
B 643 ||| @305 SAP drawing number: 10000098965 o Coua [ @ Littelfuse
Material and treatments: — : ; Expertise Applied| Answers Delivered
-|TITLE

FORMNO; OVP-PEA00SREVA  |o50A MANUAL BATTERY MASTER SWITCH
FIRST ANGLE PROJECTION _|\w|TH FIXED HANDLE AND PROTECTIONS

=@ [T 0108098795 8

| DO NOT SCALE DRAWING | SCALE 1:1 [ SHEET 1 OF 1

16 15 14 13 12 11 10 9 | 8 7 6 5 4 3 | | 2 | | 1



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


